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Q1.  If ax = 5, Find:
i) a2x                                                               /1             ii) a-x                                                                                         /1
______________________________________________________________________________________________________________________________________________________________________________
[image: C:\Users\Abdullah\Desktop\1.PNG]Q2.  Simplify:
a)                                                                          /2            b)                                         /2
  _____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Q3: y is inversely proportional to the square of x when x =2 and y = 3. 					   /3
a) Find the equation connecting x and y.
b)  Find the value of x when y is 48.
_______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________



Q4: Write 54 as the product of its prime factors.                     					               /1 
_______________________________________________________________________________________
Q5: Write the number 360 million in standard form.	                                                                           /1
_______________________________________________________________________________________
Q6: Evaluate:
i)    40  4-2												   /1
__________________________________________________________________________________________________________________________________________________________________
ii) )3												   /2
____________________________________________________________________________________________________________________________________________________________
[bookmark: _GoBack]Q7:  Find the value of k in each of the following:
a)  = 3k												  /2
__________________________________________________________________________________________________________________________________________________________________
b) -3 = 2k                     										               /2
__________________________________________________________________________________________________________________________________________________________________                                                                                                                                                                           
Q8.  If  P = 5   109   and  q = 9   10-16 , Expressing each answer in standard form, find
i) p   q 												 /1
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
ii) 													  /2 _________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Q9: Given that , express g in terms of .						   /2
______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Q10: Simplify 								   /2
____________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Q11: Express as a single fraction 								   /1
______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Q12: A man who is 1.8m tall stands on horizontal ground 50m from a vertical tree. The angle of elevation of the top of the tree from his eyes is 30o. Use as much of the information below as is necessary to calculate an estimate of the height of the tree. Give the answer to a reasonable degree of accuracy. [sin 30o = 0.5, cos 30o = 0.866, tan 30o = 0.577] 						   	/4
__________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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